Pot: $90,000
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Split Steal
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Suppose that David values fairness first and then
money and is benevolent towards Sandra:
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David's preferences: David's utility: {1234} STEAL
best (345k, $45k) =

($40, $0) 3

($0, 390) 2

(309, $0) 1

worst
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What if Sandra is selfish

and greedy? Utility: a2
best ($0, $aon 3
(44 5% $45K) 2

worst (3‘%“\50)} ($0, %0) \



Read Definitions 2.2.1 and 2.2.2 in textbook (Chapter 2)
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Read Definitions 2.2.1 and 2.2.2 in textbook (Chapter 2)
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A strategy is strictly dominant if it strictly
dominates every other strategy.

A strategy x, which is not strictly dominant, is weakly
dominant if, when compared to any other strategy v,
either x dominates (weakly or strictly) y

or X is equivalent to y
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Second-price auction:

the highest bidder wins and pays the second highest bid

Bidder 1 2 3 4 5 6 7
Bid $10 $12 $8 $20 @ $18 $15
Wi une,
Peys $20

Bidder 1 2 3 4 6 7
Bid $10 $12 @ $20 $22 $18 ézz )

winver Setond
W%lv,r
pe7s $27 oy

In case of ties the rules have to specify how the winner is picked (first to submit his bid?
first in alphabetical order? coin toss? ...)



The case of TWO bidders:
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